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1. Consider the following statements : 3. If

1. Let D be a point on the side 3_tan2 A
BC of a triangle ABC. If area of = K

2
triangle ABD = area of triangle 1-3tan” A
ACD, then for all points O on
AD, area of triangle ABO = area where K is a real number, then
of triangle ACO. cosec A(3sIin A - 4sin> A)is equal to
2. If Gis the point of concurrence
of the medians of a triangle (a) 2K
ABC, then area of triangle K -1
ABG =area of triangle BCG
= area of triangle ACG. b) 2K  where 1 CK <3
K-1 3
Which of the above statements
’ ?
is/are correct: (c) ul , where K < l or K>3
K-1 3
(a) 1 only
2K
(b) 2 only (@) 3
(c) Both 1 and 2
(d) Neither 1 nor 2 4. The angles of elevation of the top of a
tower from two points P and Q at
distances m? and n? respectively,
2. If cosA=tanB, cosB=tanC and from the base and in the same

straight line with 1t are

cosC = tan A, then sin A is equal to
complementary. The height of the

-Jg-l tower 1s
(a) 3
(@) (mn)'/?
py Y21
2
(b) mnl/?
©) J§4~1
(c) m!/?n
V3 -1 )
@ = Ltd] mn

B-EFUA-O-PDW /52D 2




CDS 1 2015 maths question paper:
SSBcrackExams.com

1. Fefafiad st w o= Fifse

.- . N
3. gfy S—tan” 4 = K, 9@l K U& ardideh

1. Wcﬁf\u{q%@ﬁga,qgc:ﬁ _ 1-3tan? A
511 BC 9T D@%%lﬂﬁﬁgﬁ q&T 8, a1 cosec A(3sinA -4sin® A)
ABD # &9%d = Y& ACD @ foreeh ST 27

ga%d, al AD | 94t fegent O &
o, AYs ABO &1 &a%a = B

ACO & 87% | (@) Kﬂfl
2. Jf¢ Tk BYS ABC &l HIiEdeh13T
g fag G B, @ By ABG oK .1
1 & = FYS BOG #1 &we b) gy T gEKES
= S ACG 1 &9%d |
IR Fol @ BH-w/A w2/ K wmik<laksa
(C} K_l’ 3
(a) +ad 1
(b) Had 2 (@) Kzi{l
(c) 1 3R 2 M

(d) T 1WA 2

4, P 3R Q 3 fag & HHAR & MuUR ¥

2. 9l cosA=tanB, cosB=tanC 3 FHI: m? 3N n? H T | TH & ad
cosC = tan A, dl sin A T8 0L 87 W R g dAR & I &%, P3O
q, IFH B [E gl AR f 9
(a) V5 -1 TﬂT%?
4
1/2
‘ \/g_l . (a) (mn)
(b)
2
(b) mn'/?
J3-1
(c) 3
(C) m1/2n
@) J3 -1
2 (d) mn
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S. The angle of elevation of a cloud from
a point 200 m above a lake is 30°
and the angle of depression of its
reflection in the lake is 60°. The
height of the cloud is

(@ 200 m
(b) 300 m
7 I X
fe) 400 m | RN
L/(C) ﬁkg\‘) s ‘%ﬁ o T v\ /
(d) 600 m
6. If

tanA+cotA=4
then tan® A+cot? A is equal to
(@) 110
(b) 191
(c) 80
(d) 194

7. If

_l-sinx COS X
. ) q'— ’ r =
l+sinx COS X

l-sinx

g
|l
-

l1+sinx

then which of the following is/are
correct?

1. p=qg=r
2. p2 — qr

Select the correct answer using the
code given below.

(a) 1 only

(b} 2 only

\Lo)/ Both 1 and 2
(d) Neither 1 nor 2

B-EFUA-O-PDW/S2D 3

8. Consider the following :

COS A N sin A

l-tanA 1-cotA
=SINA +Cos A

2. (l-sinA-cosA)?
=2{(1-sinA)(1+cosA)

Which of the above is/are
identity/identities?

(c/ Both 1 and 2

(d) Neither 1 nor 2

9. ABC is a triangle right angled at
B and AB:BC=3:4. What 1is
sin A +sin B+sinC equal to?

(@ 2

11
(b) =

12
(c) —g'

(d) 3

10. The value of

cosec? 67° + sec? 57° - cot? 33°— tan” 23°
1S
(@) 22
(b} 2
(c) ~2

(d) O

=




5. U6 #id % 200 m IR @ w fag @
et aTeet T 399 I 30° B 3R 3G

e d yfdfsa &1 31@d989 o 60° 2
aee &Y AT 1 27

(a) 200 m
(b) 300 m
(c) 400 m

(d) 600 m

6. dic tan A+ cotA =4, at

tan® A +cot? A fhash SR B7
(@@ 110

(b) 191

(c) 80

(d) 194

7. I

1 -sinx l]-sinx COS X
. y (= y I' = -
l1+sinx COS X 1+sinx

P

al frafafae 4 @ oF-a1/8 @8 2/37

1. p=qg=r
2. p2=qr

= fdu MU FHe F T W FE IH
M

(@) HaA 1

(b) HAA 2

(c) 1 3R 23H

d) AR 1A 2

B-EFUA-O-PDW/52D
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8. T=feiiga w fa=r Shifstu -

‘gqu N sin A

l1-tanA 1-cotA
=sinA+cosA

1.

2. (l1-sinA-cosA)?
=2(1-sin A)(1+cos A)

39 T ¥ -1/ dodqF 2/27
(@) Had 1

(b) HId 2

(c) 1 3R 2 M

(d) Ad1MIA 2

9. ABC T& Ty 8, SI B W HHHW
Tl 2 3 AB:BC=3:4 @I
sin A + sin B + sin C &g s 27

(@) 2

11
(b) =

12
(c) ‘g

(d) 3

10. cosec? 67° + sec? 57° —cot? 33°

----tan2 23°
&1 O ] 27

(@) 22
(b) 2
(c) ~2
(d) O

(P.T. O.
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11. Consider the following statements : 14. Consider the following statements :
1. There exists at least one
m 1. There exists no value of x such
value of x between O and 7 that
which satisfies the equation
sin* x -2sin? x-1=0.
1 T

=4 +243, O —
2. sinl-5 1s greater than cosl- 5. l1-sinx V3, s xS 2

Which of the above statements

is /are correct? ,

2. sinx =3%""X does not hold

(@) 1 only good for any real x.

(b) 2 only

(c) Both 1 and 2 Which of the above statements

._Ad] Neither 1 nor 2 is/are correct?

12. From the top of a tower, the angles of
depression of two objects P and Q
(situated on the ground on the
same side of the tower) separated (b) 2 only
at a distance of 100(3-+/3) m are
45° and 60° respectively. The height
of the tower is

(a) 1 only

(c/ Both 1 and 2

(@) 200 m (d) Neither 1 nor 2
(b) 250 m
(c) 300 m

(d) Nome of the above 15. A triangle ABC is inscribed in a

circle. If sum of the squares of

13. 1 sides of the triangle is equal to
SINX +COSX =C twice the square of the diameter,
. D ) .0 .
then sin® x +cos® x is equal to then sin“ A+sin® B+sin“ C 1S
equal to
1+ 6¢c2 - 3c¢?
(a) T
(a) 2
(b) 1+ 6¢2 - 3c?
+ (b) 3
1+ 6¢% + 3c*
(c)
16 (c) 4
@) 1+ 6¢? + 3c?
4 - (d) None of the above

B-EFUA-O-PDW /52D 6




11. H=faiga s w fomm fifsm .
1. oﬁng%aﬁaxmm-@-ww

ge fered WO, S g
sin4x—23in2x—1=0ﬁﬂ"n@'§
Ll 2|

2. sinl-5, cosl-5 ¥ 3T g
394 YAl § | hI9-91/8 TE 3/37
(@) HaA 1

(b) FaA 2

(c) 1 3R 2 g

(d) Td133IWTE2

12. el AR &l w% & W& Jfad W @@ @
TGN P I Q &, s d= i g
100(3-+/3)m 8 "R & fmer @
3TFTHT IV FHAI: 45° W 60° 8| HHAR
hl HT3 HT 27

(a) 200 m
(b) 250 m
(c/ 300 m

(d) I9E W H hHig T

13. I sinx+cosx =, a sin® x +cos® x

forss JeR 27

1+ 6¢% — 3¢t

(a) T:

1+ 6¢2 - 3¢

(b) "

1+ 6c2 + 3¢

(c) T

1+ 6¢2 + 3¢

d
(d) 2

B-EFUA-O-PDW/52D
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14. =faRaa sl | fomm Fifsw

1. x%mﬁmmaﬁaﬁ%
£

L —442J3 0<x<™

1 -sinx 2

2. sinx = 350" X T Wt Sl x
% fog @ 78 g

3T FYA A W BHA-91/T qE R/BT
(@) Had 1

(b) HAA 2

(c) 1 3R 2 T

(d) T 1ARTH 2

15. S ABC el 99 & st ©f=n
(3ashrgse) 2| Al Frgs Y sp=mredt & &
H AN AH F A H AT R,
sin® A +sin? B+sin? C %Fa? ST
g7
(a) 2
(b) 3
(c) 4

(d) I9YTH H | HIS TE

[P.T. O.
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16. What is the remainder when 4°° is 19. What 1s
divided by 67 8
5+410
(a) 4 55 — 2420 — /32 + /50
(b) 3 equal to?
(c) 2
(@) S
(d) 1
(b) 5J2
17. If (c) 5J5
37 _ 5, 1 Ad) 5
13 ot 1
y"‘l
z 20. The digit in the units place of the

product 81 x 82x 83 x 84 x---x 99 1s
where x, y, z are natural numbers,

then what 1s z equal to? \,(a’)" O
(b) 4
(a) 1
(c) 6
(b) 2
(d) 8
(c)] 3
\Jd)/ Cannot be determined due to 21. The square root of

insufficient data

. 3
- 75) +[0-75+(0-’75)2 + 1]
1-0-75
18. For what value of k i1s (x — 5) a factor |
of x> —3x? + kx -107? | 1S
x/fé) -8 (a) 1
(b) 4 (b) 2
(c) 2 | (c/ 3
(d) 1 (d) 4

B-EFUA-O-PDW /352D 8
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16. Ic 4°° = 6 ¥ Rwisa fan s, & 5++10 S
YRS FIT 87 Lo 5v'5 —24/20 - /32 ++/50 I
27
(@) 4
b) 3 (a) S
(c) 2 (b) 542
(d) 1 (c) 5V5
(d) /5
17. 3fe
A
X+—F 20. THHA 81x82x 83x 84 x---x99 &
- y+- THE & TIH T HH-TT 3F 27
&l x, y, z 9990 W &, @ z Fre @
- U 27
o 3 (b) 4
(b) 2 © ©
(c) 3 (d) 8
(d) 3T9TT" g4 & rur [ulf| 98 e
S1keEI
3
21. 07 +[0-75+(0-75)2 + 1] 1
1-0-75
18. ko fohg A & fIU x3 - 3x2 + kx - 10 WW%?
&1 T OHETS (x - 5) 87
(a) 1
(@) -8
b) 2
b 4 (b)
c) 2 e 3
(d) 1 (d) 4

B-EFUA-O-PDW/52D 9 [P.T.O.
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22. 1421x1423x1425 & 12 ¥ faurca
FE W NTHS T 27

(a) 1
(b) 2
(c) 3

(@) 4

23. F=fefaa s @ fomm fifswe

1. FHEOT 1990x-173y=11 &I
xﬁ(y%%ﬂ.mﬁ@éwm
g

2. FHRW 3x-12y=7 H x AR y
% fefu qurfent § 13 &t 7€t 2|

IWE FHUA T ¥ HI-T1/F g /27
(@) Fad 1

b) e 2

(c) 1 3AR 2 qEI

(d) T@ 13MAE 2

24, Tk B H Tl 9= & 25 9@ o0 A
% foTu =gl M| 36 3@ T H 25 &
WH W 52 ¥ 0 R AR I
3IW, FEl IW ¥ 324 wgrel o1 S| g
&t Ton TR ST o a® R R

(a) 12
(b) 15
(c) 25

(d) 32

B-EFUA-O-PDW/S52D

25. Iid & 357P250Q, 3 3 5 T4 4@
fowrsg 2, @ (P, Q) &% wWrqd Fwl i
T T 27
(@) 7
(b) 6

(c) 5

(d) IUGH H H HIg TE]

26. 31 SFHTTA faww quifert o @Ml T 3T gAIM
frad favrsy 27

(a] 3
(b) T
(c) 8

(d) 16

27. ITH

x3q2 —-x3pt+4x2pt—‘f’rxzq2 + 3ch2 ~ 3xpt

e fawrsw 27
(@) A (x - 1)
(b) A (x - 3)
(c) (x-1) 3R (x - 3) AT

(d) T (x-1) 3T (x-23

[P.T.O.
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28. The difference between compound
interest and simple interest at the
same rate of interest R percent per
annum on an amount of ¥ 15,000
for 2 years is ¥ 96. What is the
value of R?

(a) 8
(b) 10
(c) 12

(d) Cannot be determined due to
insufficient data

29. What is the.maximum value of m if
the number

N = 35x45x 55x 60 x 124 x 75
is divisible by 5™? '

(a) 4
(b) 5

6

)
ydf 7

30. A milkman claims to sell milk at its
cost price only, but he is making a
profit of 20% since he has mixed
some amount of water in the milk.

What is the percentage of milk in
the mixture?

) 80%

b 2500, B
3 o
(u\’
(c) 75%
@ 220 +
3
B-EFUA-O-PDW /52D 12

31. If three metallic spheres of radii 6 cm,
8 ¢cm and 10 cm are melted to form

a single sphere, then the diameter
of the new sphere will be

(a) 12 cm
(b) 24 cm
(c/) 30 cm
(d) 36 cm

32. If each interior angle of a regular
polygon is 135° then the number of
diagonals of the polygon is equal to

(a) 54
(b) 48
(c) 20
(d) 18

33. The sides of a triangular field are
41 m, 40 m and 9 m. The number of
rose beds that can be prepared in
the field if each rose bed, on an
average, needs 900 square cm

space, 1S
cta) 2000
(b) 1800
(c) 900
(d) 800

34. The ratio of the outer and inner
perimeters of a circular path is

23 : 22. If the path is 5 m wide, the
diameter of the inner circle is

(@) 55 m

(b) 110 m
(c/) 220 m
(d) 230 m

=
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28. € 15,000 & U W 2 aui & fou 31. I 6 cm, 8 cm 3R 10 ecm B=F13tt a9

Thglg TS qUT YRV S H, TH &l d uifes el 1 o & e
IS @ R Ufdyid amfdes W, & 96 & T ST, ol AU A Rl AT T B Y
IR 2| R I O 7 87 @ 12 cm
(a) 8 (b) 24 cm
) 10 Ly CrE e () 30 cm
© 12 '3 (d) 36 cm
@) mmﬁéwﬁﬁﬁaqﬁm 32. Ilc TFEl |H SEYS & TS A<
135° 2, @l 39 g o faahull hl He&
w1 87
29. ¢ wE @) 54
N=35x45x55x60x124 x 75 (b) 48
5m @ faursa 8, @ m &1 AfYwdy g (c) 20
ER 1 (d) 18
(a) 4 .
33. @ﬁﬁ“ﬁ'ﬂ@ﬁﬁwéﬂm, 40 m
(b) S A 9m 2l 30 @d H @ & fehadl
(c) 6 RMIT TIR T S vl 8, Il TS
) 7 TTATE sl ®RY I A 900 & cm i
STE S AT &7
30. U gy fashal I8 31@1 al ¢ T 98 gu =+l SRS
hadl AT ShAd W o9 @ 8, g 39 (b) 1800
20% 19 8 @1 7, il 364 g4 T FD (c) 900
e o gt fremn 21 @ fyeo | qu (d) 800
forerm wfcera B7
(@) 80% 34. @g?ﬁ’qq?la?aﬁﬁﬁm ATk T
WWIHQ&QZ%IU%WSm%ﬁ'@
(b) 2200/0 2, @ Tk 99 1 AT FT ]7
| (a) 55 m
(c) 75% (b) 110 m
220
@ 2994, (C) i
3 (d) 230 m

B-EFUA-O-PDW/52D 13 [ P. T. O.
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35. A cylindrical vessel of radius 4 cm

contains water. A solid sphere of

radius 3 cm is lowered into the
water until 1t is completely
immersed. The water level in the
vessel will rise by

(al 1-5 cm
(b) 2 cm

(c) 2-25 cm
(d) 4-5 cm

36. If the height of a right circular cone
1s increased by 200% and the
radius of the base 1s reduced by
50%, then the volume of the cone

(a) remains unaltered

(b) decreases by 25%

(c) increases by 25%

(d) increases by 50%

37. The angles of a triangle are in the
ratio 4 : 1 : 1. Then the ratio of the
largest side to the perimeter is

2 1

(@) 3 (b) 2+4/3
V3 2

) 2 +4/3 @) 1+4/3

38. Let a, b, ¢ be the sides of a right
triangle, where c is the hypotenuse.
The radius of the circle which
touches the sides of the triangle is

(a) (a+b-c)/2
(b) (a+b+c)/2
(c) (a+2b+2c)/2

(d) (2a+2b-c) /2

B-EFUA-O-PDW /52D
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39. The area of the largest triangle that
can be inscribed in a semicircle of
radius r 1S

(@) r*
(D) o2
(c) 3r2

(d) 41

40. AD 1s the diameter of a circle and

AB is a chord. If AD= 34 cm,
AB =30 cm, the distance of AB
from the centre of the circle is
(a) 17 cm
(b) 15 cm
(c/) 13 cm
(d)] 8 cm
41. [f a star figure 1is formed by

elongating the sides of a regular
pentagon, then the measure of each
angle at the angular points of the
star figure is

(@) 36°
(b) 35°
(c) 32°
(d) 30°

42. Four equal-sized maximum circular
plates are cut off from a square
paper sheet of area 784 square cm.
The circumference of each plate i1s

(@) 11 cm
(b) 22 cm
(c/) 33 cm
(d] 44 cm

g
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35. 4 cm 91 971 T AR §d4 § 9T
21 3 cm == e W 3 M 9 o
AW ST 8 9 do Tk 98 ¢ 9% 9 e«
9 WU §a9 H g @ &R Thaal @e
STTQT !

(a) 1-5 cm
(b) 2 cm

(c) 2:-25 cm
(d) 4-5cm

36. I Uk TIWE IF sl HAg 200% @
& ST qT IGeh YR hl T 50% FH
& g1 Y, ol 39 IF 1 AT

(a) Iqf@lad @l g
(b) 25% HH B ST &

(c) 25% =g Tl &

(d) 50% ¢ Sal &

37.@%&3%@“14:1:1%3@%73%1
Byd i ge" a1 Y& FH U™ ¥

37T T 87
2 1
© 3 AP FNe
J3 2
(c) /3 (d) 3

38. A ofifvw o ek e Biys Ht g
a, b, c & & ¢ &4 g I Iq A
Brsgr, s e &t oeeT A WYl wl
g, ¥ 37

(a) (a+b-c)/2
(b) (a+b+c)/2
(c) (a+2b+2c)/2
(d) (2a+2b-c)/2

B-EFUA-O-PDW /52D 15

39, r = Ot rdgd & rwartd WiW S
o ATt gead I & ake w1 87

(@) r?
(D) 2r?
(c) 3r?

(d) 4r?

40. Tre g9 #1 ™ AD 2 3R 3IFeh! T ST
AB 2| I€ AD = 34 cm, AB=30cm,
@ 99 & &8 9 AB ! gl Tehal 27
(a) 17 cm
(b) 15 cm
(c) 13 cm
(d) 8 cm

41, afe TF GO TS I 1A Rl F@THR 3
Tk ai ot Tpfd € S 8, d ai o
ATF & HoiE forgatt W T 0 <l
o9 91 27
(a) 36°
(b) 35°
(c) 32°
(d) 30°

42. 784 I cm &9%d 1A Teh ITRR HITH
% T3 U W W AR ! IR d8! § 98]
g wie @ el Sdl 21 e
w2 i iy = 27
(a) 11 cm
(b) 22 cm
(c) 33 cm
(d) 44 cm

[ P.T. O.
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43. If tan(A+ B)=+/3 and tan A = 1, then 46. The area of a rhombus with side
tan{A - B) is equal to 13 cm and one diagonal 10 cm
will be
(@) O

(a) 140 square cm

(b) 1 (b) 130 square cm
(c) 120 square cm
(c) :/—1_5 (d) 110 square cm

47. Two circles, each of radius r, with

(d) 2 centres P and Q, are such that each
circle passes through the centre of

the other circle. Then the area

common to the circles is less than

44. If the radius of a sphere is increased one-third of the sum of the areas of

by 10%, then the volume will be the two circles by
Increased by /3,2
(a) 2
(a) 33-1%
2
(b) 30% b) J3r
3
(C) S50%
V312
o (c)
(d) 10% o
(d) V3r?

45. ABCD is a parallelogram, where
AB : AD =2 : 1. One of the angles of
the parallelogram is 60°. The two

, , , 48. A sphere and a cube have same
diagonals are in the ratio

surface area. The ratio of square of
their volumes is

(a) 7:3

(@) 6:m7
(b) V7 :/3

(b) S .=
(€) 7:5 (c/) 3:5
(d) None of the above (d) 1:1

o

. B-EFUA-O-PDW /52D 16
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43. IC tan(A + B) =+/3 N tanA =18, dl
tan(A - B) e ster 27

46. Tt go=gys &1, et &1 13 cm 3R
T ool 10 cm ®, &A% TohaT1 ETT7

(a) 0 (a) 140 ‘q”f cm
(b) 130 @1 cm
b) 1
& (c) 120 &1 cm
] (d) 110 1 cm
(c) "J——g

47 . aﬁ%,wmﬁw r%,aﬁ'«

(d) ~2 P33R Q2| IU% Jq W Jd & &5 ¥
| g TeRAT 21 eFl gt & Iwafm

&%, &Ml gdi o HABA o I &

] R ?
44. IC TH Mo h T 10% @1 & S, o - TaErs 9 il
IGHT A Toha-l @ STUT? /372
(a)
4
(@) 33-1%
(b) 30% (b) «/§3r2
(C) S0%
J3r?
d) 10% © —
(d) J3r?

45. ABCD U& @R =qisl &, &l
AB:AD=2:1%| 99 AqYS F T
FU 60° Bl THIRK TGS o qHT {dehul

fopg o1 § 37 48. T Mo 3 TH I & YEA &6 S
2| I AT o a1 T ST FAT 27
(a) 7 :3
(a) ©:
(b) 7:3 (b) S:m
(c) 7:0 (c) 3:95

(d) I § & g T (d) 1:1

B-EFUA-O-PDW/52D 17 (P.T.O.
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49. The radius of a sphere 1s equal to the 52. The last digit in the expansion of
radius of the base of a right circular 172°% s
cone, and the volume of the sphere
1s double the volume of the cone. (@) 9
The ratio of the height of the cone to
the radius of its base is (b) 7
(a) 2:1 c) 3
b) 1:2
(c) 2:3
(d 3:2 53. A rectangular block of wood having

dimensions 3mx2mx1-75m has
to be painted on all its faces. The

50. Water flows through a cylindrical layer of paint must be 0-1 mm thick.
pipe of internal diameter 7 cm at Paint comes iIn cubical boxes
the rate of 5 m/s. The time, in having their edges equal to 10 cm.
minutes, the pipe would take to The minimum number of boxes of
fill an empty rectangular tank paint to be purchased is
Imx3mx2-31m is

(@) S
(a) 28

(b) 4
(b) 24

(c) 3
(c) 20
d) 12 (@) 2

54. The diagonals of three faces of a
cuboid are 13, +¥281 and 20 linear
units. Then the total surface area of
the cuboid 1s

91. The total outer surface area of a right
circular cone of height 24 cm with a
hemisphere of radius 7 cm upon its
base is

(@) 32771 square cm (a) 650 square units

(b) 3071 square cm (b) 658 sguarc units
(c)] 293n square cm (c) 664 square units
(d) 273n square cm | (d) 672 square units

o
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49, T Mt 6 B frft Tegede w9 & 52. 172°° & yar ® Af<q 7% = 77
YR 6 B & auer g 3 M &

AT, TF o G 1 SUAT 8| IF Al (@) 9
&d1g 1 3IWh YN s &A1 | 31UTd

w1 87 (b) 7
(a) 2:1 (c) 3
(c) 2:3

(d) 3.2

53. 3mx2mx1-75m T\ g Ush
HIARR Thel & @IS & TR USI hl U
FET 81 U= &l 9@ 0. 1 mm HIET &1 &l
Ifgu| 92 10 cmm ARG 9T SR
fesal o oA 31 U & FH-W-FH fohdd

50. 7 cm 1 3N I dleil Th aAqhI

Il ¥ Ut 5m/s H fd @ FEar B
4mx3mx2-31m T Tk JIATHRR

7

Qe R v 3 el A R B 164 W< W SR
AT ?

(a) S
(@ 28

(b) 4
b) 24

(c) 3
(c/] 20
d 12 () 2

51. T&F ogdd i 1, et $91% 24 cm 54. T& 9414 & diF g8l & fa&ul 13, 281

2 3 s MR W 7 em Bsn 1 @& 3R 20 THEATE TH F | T F FA
HAYMAT 8, P dT& YEE &Fhel T g & fehaat 87
g7
(@) 650 T &g
(a) 3271 91 cm
) 307n & cm (b) 658 T T
(c) 2937m M cm (c) 664 T JHE
(d) 2731 T cm (d) 6723ﬁ3$l§

B-EFUA-O-PDW /52D 19 | P. T. O.
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S5S5. A rectangular paper of 44 cm long
and 6 cm wide is rolled to form a
cylinder of height equal to width of
the paper. The radius of the base of
the cylinder so rolled is

(@ 3-5cm
(b) 5 cm
() 7 cm
(d) 14 cm

56. If a~-b=4 and a*® + b*? =40, where

a and b are positive integers, then

a> +b° is equal to

(@) 264
(b) 280
(c) 300
(d) 324

S7. The sides of a triangle are 25 cm,
39cm and 56 cm. The perpen-
dicular from the opposite vertex
on the side of 56 cm is

(@ 10 cm
(b) 12 cm
(c) 15 cm
(d) 16 cm

B-EFUA-O-PDW/52D
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98. The diagonals of a trapezium are
at right angles, and the slant sides,
if produced, form an equilateral
triangle with the greater of the two
parallel sides. If the area of the
trapezium 1s 16 square cm, then
the distance between the parallel

sides 1s

(a)] 2 cm
(b) 4 cm
(c/ 8 cm

(d) Cannot be determined due to
insufficient data

99. From a circular piece of cardboard of
radius 3 cm, two sectors of 40° each
have been cut off. The area of the
remaining portion is

(a) 11 square cm
(b} 22 square cm
(c) 33 square cm

(d) 44 square cm

60. Three equal circles each of diameter
d are drawn on a plane in such a
way that each circle touches the
other two circles. A big circle is
drawn in such a manner that it
touches each of the small circles
internally. The area of the big circle
1S

(a) nd?
(b) nd?(2-3)2

) nd? (V3 +1)°
2

@ nd? (V3 +2)?
12
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55. Tk 3I{IATHRR HATS ohl, SR JA=Te 58. UF G ¥ el wuawl w § afk af

44 cm 3R IAI8E 6 cm g, MA (UA) e it Tl enetl ) semEn S, @)
TR FHATS ! SR F TS HATS ATl SHl FHI-GL YS3T H | a8t dreft Y71 &
SO T ST 2 | 39 R AT Y S Y T guag BFYs o9 S g1 3k
% TR 1 e = 27 A H 8F%A 16 I cm g, @
AT 3ST13T o o= 1 gt fepat 27

(@) 3-5 cm @ 2 em
(b) 5 cm (b) 4 cm

. (c) 8 cm
o 1 em (d) TIFTH T4 o HI01 YT T&l i o
(d) 14 cm RER

59. 3 cm 99T 9@ Tk T™ o FAd Ihe d

56. Alc a-b=4 3 a? +b? =40 2, el 40° a1t QN FreE-wug wR S gl A
aGﬁ'{bW‘I\Uﬁ%%,ﬁa3+b6 el 1 &7l 1 B
forgeh sITrem 27 (a) 113t cm
(@) 264 (b) 22 91 cm
(c) 33 a7 cm
b) 280
S (d) 44 91 cm
(c) 300
60. Tsh THdA T dH SR I, Tddh d ™
(d) 324 9T, 39 YR § @i S & 6 9 99
I 3 FAl K Y Hal g1 TH F91 9
W YR | ©iE a1 g 6 98 T/ Bie
57. T& s &1 ¥¢ 25 cm, 39 cm 3R gd H HANE 9 8 T FT Bt d9
56 cm &1 56 cm 1 Y W TE@ g g4 1 AR T &7
¥ o Topear 27 2
(a) nd
(@) 10 cm (b) nd?(2-3)>
(b) 12 cm nd? (V3 +1)?
(c) >
(c) 15 cm
2 2
) nd* (V3 +2)
(d) 16 cm 12
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61. There is 60% increase in an amount
in 6 years at simple interest. What
will be the compound interest on
¢ 12,000 after 3 years at the same
rate of interest? o\

\ oo B ol
\
\ 59) \Jl"l

64. In how much time would the simple
interest on a principal amount be
0-125 times the principal amount
at 10% per annum?

Voo | > (@) /1—1- years
(@ € 2,160 “ - 4
3 LY } LvQ
(b) ¢ 3,120 \méq ﬁ%i( (b) 1; years
se] € 3,072 It
d) ¥ 6,240 W, (@) 25 years
(d) , \o . o 4
s o
\fvv ? O 2 3
62. 16 litres of a mixture contains ‘ () 4 years
milk and water in the ratio 5: 3. If
4 litres of milk is added to this
mixture, the ratio of milk to water 65. A man rows downstream 32 km and
in the new mixture would be 14 km upstream, and he takes
6 hours to cover each distance.
(@) 2:1 v What is the speed of the current?
. 5 Y 44
SL/BNA — € (a) O0-5 km/hr
| ,%/ ( A . s
(c) 4:3 -f; (b) 1 km/hr
(@) 8:3 10 (e~ 1-5 km/hr
63. A person could save 10% of his (d) 2 km/hr
income. But 2 years later, when his
income incredsed by 20%, he coula 66. A car travels the first one-third of
lii}zc?reth};y Sir:; rirszgn;e:;ztazz a certain distance with a speed
’ | . of 10 km/hr, the next one-third
has his expenditure increased? distance with a speed of 20 km/hr
2 and the last one-third distance with
(@) 226 /o a speed of 60 km/hr. The average
speed of the car for the whole
b) 231% journey 1s
3 -
Lft) 18 km/hr
(c) 24-3_% (b) 24 km/hr
(c) 30 km/hr
(d) 25~2~%
9 (d) 36 km/hr
B-EFUA-O-PDW /52D 22
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61. Torell T 4 6 Wl H WYRI SN W 60% 64. fFdl Yo W 10% Ffded it & o

1 gfg B 21 € 12,000 H T ®, ARy e fohad @99 O gAud @
3 991 & e 3Ht S @ R Thafg <A 0-125 TAT & STa?
1 g Y . .
(@ 1T
(@ € 2,160 4
(b) T 3,120 (b} l-j-:’-a'ﬁf
(c) € 3,972 1
Z aq
d) ¥ 6,240 () 23
. @ 23
62. 16 il & Tw fiyw # gy o o+ 5: 3 4

o IFgaTd | 2| Al 39 w7 4 i gy
mﬁwﬁmm,?ﬁ?mﬁwﬁg‘aw 65. T gith 32km YN ! Q¥ #
Tt @ AT AT I 14 km 9T 1 fyafa R § @ Qe 2

(@) 2:1 ) b ¥R 38 TH g R q¥ FH A 6 g
.,\/;’-»: & A 2| ¥R <l AT 1 87
(c) 4:3 R ﬁ/« | ~ (a) 0-5 km /9]
| (A =
(d) 8:3 N ;/ﬁi . (b) 1 km /90
o 2
63. TH oAfth 3THl AT & 10% i d=9q WV § *

qr | foheg 2 A 918, S& 3T AT 20%
d¢ T3, d9 1 98 ygw ol & ufyr
I X THT| ITFT 59 Fhad g s¢ 66. TF &R fHdl gl # gl wh-fag g0

T R? 10 km /9921 ! I |, 3Tl Teh-{dq13
, 0 20 km /90T 1 A G d AREh
@) 22°% T-fags gt 60 km /90T 6 IA |
W 2l @ I § wR A N =T
1 1 87
(b) 23 %
(@) 18 km /90
(c) 24%—% (b) 24 km/9u]
, (c) 30 km/99]
(d) 25Z%

9 (d) 36 km/HUe]
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67. Two persons A and B start
simultaneously from two places
¢ km apart, and walk in the same
direction. If A travels at the rate
of p km/hr and B travels at the rate
of g km/hr, then A has travelled
before he overtakes B a distance of

70. The efficiency of P is twice that of Q,
whereas the efficiency of P and Q

together is three times that of R. If

P, Q and R work together on a job,
in what ratio should they share

their earnings?

- (aj 2:1:1
(a) 9 ¥m
p+4 (b) 4:2:1
(b) pp_"q km (c) 4:3:2
- (d 4:2:3
(c) 1 km
p—-9g
pe 71. In a flight of 600 km, an aircraft was
(d) s km slowed down due to bad weather.

Its average speed for the trip was
reduced by 200 km/hr and the time
of flight increased by 30 minutes.
The duration of the flight is

68. For which
pair of equations x? - y2 = 0 and

value of k does the

(x—k)2 ~1—y2 =1 yield a unique

- | (a) 1 hour o = )7
positive solution of x? -\ Y o
L 1,1'\4)(* f s

(a) P & 57\’1, N x % e L\/({) 2 hours W

v % \>
(b) © 2% () 3 hours PR

IS A A=z . %_' '
(c) 2 (d)] 4 hours S O
(d) —J2 d

72. With a uniform speed, a car covers
a distance in 8 hours. Had the
speed been increased by 4 km/hr,
the same distance could have been
covered in 7 hours and 30 minutes.
What is the distance covered?

69. A person goes to a market between
4 p.m. and S p.m. When he comes
back, he finds that the hour hand
and minute hand have interchanged
their positions. For how much time
(approximately} was he out of his

AousEs . (a) 420 km
(a) 55-25 minutes @3 ' LY RV
Y -~ — \ \
ik 2 wp] 480 km = 7
(b) 55-30 minutes {5% (G% S
' o0
(c) 55-34 minutes (c) 520 km &> ;L' -
XY -
(d) 55-38 minutes (d) 640 km

B-EFUA-O-PDW/S2D 24
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I W 3. % n
% ¥k C %\3( v C
67.ckm?ﬁ§ﬁWﬁ3ilﬂ.a¥9mﬁ@A3ﬂ'{B 70. P, Q i 37U&T 3N AT @ HH Hal 2
aw%ﬁ@ﬁﬁmﬁ@é‘lmﬁm Sf&fh P 3R Q et R 1 a3man o
€ & 2l AR A, p km/9ver H I« THT 28T § &M Rd g | gfe ford =l
H 9edl § 991 B, g km /99 & 91 § P, O 3 R e &, d@ 37! 319 39
Iddl 8, A B ® AT el 4@ v A forg argura o &7
fehd gt a9 wTar _7
*jﬁ\ (@ 2:1:1
@ -4 km TP
p+q = (b) 4:2:1 3K
c\‘."""“*t
5 pc g ' | (c) 4:3:2
(b) p-gq - \ c _}/ML LY T
N '-(1 QW (dl 4:2:3 .__,,.'_.__.-,, B
(c) 9°  km oL YT B 4 ) fe ¢
rP—q C :?/ ", REEECY
¥1. 600 km ® % 3ITA F UF AH @O
(d) ic km qIaq o SR 9T 8 a1 21 9|1 & [’
PT4 foum & efed =T 200 km /9ver &9
g St g 3R ISH W I 30 e @
68. k & fra W &F fau wfwwon ST 21 3SH sl FdA @iy 11 7
x? -y? =03 (x-k)2+y? =1/ @ 19w MYy O
JH, x F1 Tk Algdld GATHE A M7 N
(a) 2 Lop oy (B2EE
o Wy A
(b) O G * s \2>7 (g 3F
(c) ~2 o) Yy @) 4 e )
d) -2 ;ﬂb&{ ; xéfj Y AN B S
7 72
. Tk &R TREl g8 ! THEH™ I ° 8 U
69. Th Afth 3G 4 3R 5 a9 & s &% .
ST 2| STe qg 9199 AT 2 aﬁw@ %l &1 AR A4 dm/
a0 9 fiFe & gEEl ¥ o T WEw w&mﬁm,aﬁaﬁqﬁ7a@aﬁt
et o 21 o 2 () % o 3ow%faﬁmmaﬁ|aﬂﬁﬂ'§
d8 379+ W Y ATeT 17 w | g it [T
(@) 55-25fFe (@ 420 km »
L a y .
(b) 55-30 Tie (b) 480 km S -
(c) 55-34 W< (c) 520 km -
(d) 55-38 T (d) 640 km
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73. A runs 1-2- times as fast as B. If A

gives B a start of 80 m, how far
must the winning post from the
starting point be so that A and B
might reach it at the same time?

(a) 200 m
(b) 300 m
(c) 270 m
(d) 160 m

74. A thief is noticed by a policeman
from a distance of 200 m. The thief
starts running and the policeman
chases him. The thief and

the policeman run at the speed 1. AOC and BOD are lines. |
of 10 km/hr and 11 km/hr respec- (A
tively. What is the distance between 2. ZBOIC er?;d £A0D are
[y them after 6 minutes? SUppieint 1y
VS S o e K
\ o jc/" " fa)” 100 m (L~ o " Which of the above statements
/f) (F (b) 120 m 7?? | is/are correct? 0
: . (“;}f -
L O (c) 150 m S ,}:/ | (a) 1 only
e G S p\
: (d)] 160 m ‘-z (b) 2 only C. - /
75. When a ball bounces, it rises to % (c) Both 1 and 2
of the height from which it fell. If @
" Neither 1 nor 2
the ball is dropped from a height of cIRet o
36 m, how high will it rise at the
| third bounce? 78. At 8:30, the hour hand and the
\& L 5,3' N minute hand of a clock torm an
Lk (é) 10%‘ m angle of
o
.7/" /// Oo
V,. —b) 10% m (@ 8
(b} T75° ) :
(C) 12% m \d,_/
2 (C) 700 ,__‘ rsf{. 3 a3
d 12— m [*S
@ 123 ) 60°

B-EFUA-O-PDW/52D

76. If the angle between the radii of
a circle is 130° then the angle
between the tangents at the ends of
the radin 1s

90°

(a) (b) T0°

(f] 50° (d) 40°

77. Let OA, OB, OC and OD are rays
in the anticlockwise direction
such that ZAOB=ZCOD =100,
ZBOC = 82° and LAOD = 78&°.
Consider the following statements :

26
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73. A, B & 37 1%@%.@['«?\@%1&%8

1 AR foag A & oo fag @
80m MM 3, @ A & M fag @

74. U&h U9 TF AR & 200m H g @
@Al 2| TR HIHT Y& Far & iR
3G draT T 81 IR 3R faurd) waw:
10 km /902T 3R 11 km /997 Fi 7fd @
qrd 21 6 e &% 91k I e A g
forat gl ?

(a) 100 m
(b) 120 m
(c) 150 m
(d)] 160 m

75. I 8 A9 Iz H, Nt = ¥ et
%mﬁ%ﬁéwmm%mﬁw

T & 36 m 6 F=1% 4 firmn sme, @)
39T el 3BT | I8 fohat Faw 337

1
al) 10— m
(@ 10-m

(D) 10% m

B-EFUA-O-PDW/52D
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76. T Tk T H Geueht & 9 1300 F
10 7, a1 Bewredt & il w et -tare

&% S T HI0T 7 BY
(a) 90° (b) 70° |
(c) S0° (d) 40°

77. HF TNT OA, OB, OC 3R OD amHEd
fesm ¥ 3@ werR f fFEl O
ZAOB = ZCOD = 100°, /BOC = 82°
AR LAOD = 78 2| Frafafea swumt w

ﬁ?ﬂﬁ'ﬁ?ﬂl{:
1. AOC 3R BOD @ 2|
2. £BOC 3R LAOD W 8

3 FAA T ¥ BH-91/9 T 2/87
(@) FIA 1

(b) FHaA 2

(c) 1 3R 2 Ml

(d) a1 13RI 2

78. T HUSl ¥ 8:30 &, U I g3 3 fie
1 g3 T I FATA B7

(a) 8C°

(b) 75°

(d) 60°
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79. The complement angle of 80° i1s For the next four (4) items that follow :
) 18 adian C.ons.lder. the following frequency
T distribution :
e X radian - 10-20 5.
18 20-30 7
(d) _..9._ radian 10
S 40-50
060 | 8
80. Consider the following statements : 6070
1. If non-parallel sides of a
trapezium are equal, then it is 82. What is the mean of the distribution?
cyclic. (@) 372 L
2. If the chord of a circle is equal (b) 38-1 -‘fa---‘v‘
to its radius, then the angle ©) 39.2
subtended by this chord at a
point in major segment is 30°. (d) 40-1
Which of the above statements 83. What is the median class?
is/are correct? (@) 20-30
(a) 1 only (b) _/ 3040
) 40-50
(b) 2 only Hc)
| (d) 50-60
(c) Both 1 and 2
, 84. What is the median of the
(@ Neifaer 1 nor £ distribution?
(a) 37
81. Out of two concentric circles, the
diameter of the outer circle 1s 26 cm (b) 38
and the chord MN of length 24 cm (c) 39
is tangent to the inner circle. The (d) 40
radius of the inner circle is
. NP
@) 5 cm | 85. What is the mode of the distribution:
(a) 38-33
(b) 6 cm
(b) 4066
(c) 8 cm (c) 42-66

(d) 10 cm (d) 43-33

B-EFUA-O-PDW /32D 28
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79. 80° FH Tk HIUT T &7 T HTH qIA TR (4) T3 & o0

(a) 1;%%?4:{ eI SIRaT 9ved T fa=am Hifsa
T TOEHAT

(b) %%%W 0-10 4
10-20 5

(c) I%i%u‘—r 20-30

7 e
(d) =

80. fifaifga oM W fo=m Hifvme -

?
L af R £ - 82, FUIA T HILT HT g

STeR &, a 98 GHeE T 2| (@) 372
2. 7ie frell ga @i Sfan It e & (o) 38-1

T B, A € @ve % R fag w ) 392

39 S{1al g 3T &0 30° 2| (d) 401
IUYTE FAA H § FH-91/8 7 2/7 83. TIfersT a7t 7 27
(@) *ad 1 (@) 20-30

e (b) 30-40
) ° (c) 40-50
(c) 1 3R 2T (d) 50-60

(d) 31 AR 2 84. U &Y AT 47 87

(a) 37
81. 3 kel gul H WA, 9@ I9 W AW b) 38

26 cm 8 3R 24 cm o el MN, ) 39
HINE I W Wi 2| =i ga 6 @ 40
e @ 27
(a) 5 cm 85. SUH T AgIh T a7

(a) 3833
(b) 6 cm

(b) 4066
€/ 8 cm ) 4266
(d) 10 cm (d) 43.33
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(a) O, n £ ,ﬁ v{ o
A | e
o I\ - W
LM 1’ n N |
(c) n, n? 7
e
(d) 1, n? 2
B-EFUA-O-PDW/52D 30

86. A light was seen regularly at
an interval of 13 seconds. It was
seen for the first time at 1 hour
54 minutes 50 seconds (a.m.) and
the last time at 3 hours 17 minutes
49 seconds (a.m.). How many times
was the light seen?

(@) 375
(b) 378
(c) 383
(d) 384

87. An automobile financer claims to be
lending money at simple interest,
but he includes the interest every
six months for calculating the
principal. If he is charging an
interest at the rate of 10%, the
effective rate of interest becomes

(@) 10-25%

: (b) 10-5%
() 10-75%
%@ 1%

88. What are the possible solutions for x
of the equation xVx = Vx*, where

x and n are positive integers?

89. Let A and B be f{inite non-empty
sets with the number of elements
in A = m and number of elements in
B=n. Let m > n. If for some integer
k >1 the number of non-empty

subsets of A =2% + the number of
non-empty subsets of B, then which
one of the following is correct?

(a) m=n+2

(b) m=n+1
(c/ m=n+p for some odd prime
number p
(d) m=n+t for some composite
number ¢
90. If n is a natural number and

n= p p,?py®, where p;, ps, P3
are distinct prime factors, then the
number of prime factors for n is

(a) x|+ X9 + X3

(c)
(d) None of the above

(x; +1)(xo +1}{x5 + 1)

91. Consider the following statements
for the sequence of numbers given
below :

11, 111, 1111, 11111, --

1. Each number can be expressed
in the form (4m + 3), where m 1s
a natural number.

2. Some numbers are squares.

Which of the above statements
is/are correct?

( faf 1 only
(b) 2 only
(c/ Both 1 and 2
(d) Neither 1 nor 2

o




86. g Y @ w9 ¥ 13 WHs F
I T @1 ST 8| Igeft IR 38 qais
1 IS 54 fi2 50 e 3 anfigh
IR qaig 3 a9 17 e 49 @ m
@1 1| 3G T h FA fohat IR @
Y

(a) 375
(b) 378
(c) 383

(d) 384

87. T Hi&R foauiwys &1 <@ § & a8
HIYTU SIS X g9 IR a1 2, W 98 &

9% HE W Holgq &l AT & fau 39d
ST GiFford o &1 81 IR 98 10% 6
[ H IS A W@, a A sl q9TEl o
T B ST 27

(a) 10:-2353%
(b) 10-5%
(c/) 10-75%

d) 11%

88. THieU xVX = Afx* %, W&l x 3M n

YA Uk 8, x & oIy @™ &
HH- 87

(a) O, n
(b) 1, n

(c) n, n?

(d) 1, n*

B-EFUA-O-PDW/52D
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89. A Ny 6 A 3tk B uitfyd, s1fem
=T 8 YT A ° a6l 9@l = m 3R
BT ddl &l G =n 2l A aifsu
m>n%lﬁ%@%ﬁk21%%ﬂ,
A%mmﬁmz2k+8
% s Iumg=El FogEE,
frfefaa & @ s-a1 g 27
(a) m=n+?2
(b) m=n+1
() m=n+ p, [&H TAuw 959 G

p & fau
(d) m=n+t, 7Hd Y5 g&1 t & AU

90. I n Tk U9 W g 3R
n=p;"py’p3®, & py, py, py U
NG UEEUS @, d n & JUT
TOHEUE! ! TEIAT 1 27

(a) Xy + X5 + X4

(b) XyXpXs3
() {(x; +1)(xy +1)(x5 +1)

(d) IFF | A FIE T

91. ¥&geAl 11, 111, 1111, 11111, ... &
IFA & foru Fr=ferfan woet w fem
Fifse
1. U & (4m+3) & &9 H =

chl ST ¥ehdl 8, SR m T o qUlieh
g

2. O G T g

IR hUA W W H-91/8 wE 2/27
(a) $ad 1

(b) waA 2

(C) 1 AR 2 g

(d) Fa 1T 2

[P.T. O.




92, The HCF and LCM of two
polynomials are (x + y) and

(3x° + 5x4y+2x3y2— 3x2y3—- S5xy” —2y5)

respectively. If one of the
polynomials 1is (x2 — y2 ), then the

other polynomial is

(9] 3x? - 8x3y+ 10x?y?
| 4

+7xy3 - 2Y
(b) 3x* -8x3y-10x%y*
+7xy3 +2y4

(c) 3x* +8x3y+10x4y”
+7J~cy3 +2y4

(d) 3x* +8x3y-10x?y”
+7xy3 +2y4

93. Let p be a prime number other than
2 or 5. One would like to express
the vulgar fraction 1/p in the form
of a recurring decimal. Then the
decimal will be

(a) a pure recurring decimal
and its period will Dbe
necessarily (p - 1)

(bp) a mixed recurring decimal
and its period will be
necessarily (p - 1)

(c/ a pure recurring decimal
and its period will be some
factor of (p - 1)

(d) a mixed recurring decimal
and its period will be some
factor of (p—-1)
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94. Consider the following statements :

1. There exists only one prime
number p such that(17p+ 1} 1s
a square.

2. If x is the product of 10
consecutive prime numbers
starting from 2, then (x+1) 1s
also a prime number.

Which of the above statements
is/are correct?

“a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

95. The sign of the quadratic polynomial

ax? + bx + c is always positive if

(a) a is positive and b* -4ac<0
\{5) a is positive and b2 —4ac= 0

(c/ a can be any real number
and b® -4ac<0

(d) a can be any real number
and b? —-4ac2 0
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92. Tl WgUel % HEAH WHNEd® aYT g 94, {Hfciftad eyl W famm ffs -

qaqa :
S (x +y) 3N 1. %@ TF & A §@H p
(3x5+5x4y+2x3y2—3x2y3—5xy4-—2y5) _ ﬂ%ﬁ%ww%(l7p+l)®
. 1 2
: 2 _ 2
€1 AR I A g -y}, A 2. TR x, 2 ¥ Y& T aTelt 10 FAFE

O TEIR FT 27 IV HEATA H PG 8, dl

(x + 1) oft T 9T T B
(@) 3x% -8x3y+10x?y?

3 4
Hixy” -2y I oAl B @ BT/ T 28
(b) 3x% - 8x>y-10x?y?
+7xy3 +2y4 (a) a’ﬁ—a 1
() 3x*+ 8x3y+ 10x2y2 (b) Had 2
+7xy° +2y*

(d) 3x* +8x3y-10x2y? (c) 13 2 gH

+7xy> +2y*
(d) a1 13MMIAGH 2

93. AF WiiST T p, 2 I 5 & ICE FiE
AT ge1 2| i arune 3 1/p &)
3TTad SIWed o ®9 § oF%h fohdl ST, 95.%m?ﬂa§qaax2+bx+cmﬁauéa
98 TYHAS T g ? tHTcHe g, i

(@) TH & AEd QHAS AW IGH )

SAadH EEF €9 (p — 1) W (@) a 91TeHF 2 3R b2 ~4ac< 0

(b) TH Uy rEd Tymeld IR Igw (b) a ¥ATHS 8 AR b2 —4ac> 0
3T TEYTH 9 F (p — 1) BN

PRS- PO (c) a &5 it arfas g B gwdl 2

| 2
A (p — 1) 1 HIE TUEETE B AR b* ~4ac< 0
(d) T % 3mad qumed IR Ige (d) a FE i arafas g&m B gwd 2

HATEdF (p — 1) T HI3 [UHEEUS BN MM b2 —4ac>0
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96. If A, G and H are the arithmetic,
geometric and harmonic means
between a and b respectively, then
which one of the following relations
1s correct?

(a) G 1s the geometric mean
between A and H

(b) A 1is the arithmetic mean
between G and H

(c/ H is the harmonic mean
between A and G

(d) None of the above

97. The geometric mean of three
positive numbers a, b, ¢ 1s 3 and
the geometric mean of another
three positive numbers d, e, f 1s 4.
Also, at least three elements in the
set {a, b, ¢, d, e, f} are distinct.
Which one of the following

inequalities gives the best
information about M, the
arithmetic mean of the six
numbers?

(@ M >2J3

(b) M >3:-5

e M=3.5

(d) It is not possible to set any
precise lower limit for M
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98. There are five parties A, B, C, Dand E
in an election. Out of total 100000
votes cast, 36000 were cast to
party A, 24000-to party B, 18000 to
party C, 7000 to party D and rest
to party E. What angle will be
allocated for party E in the pie

chart?

(a) 15°
(b) 54°
(c) 60°
(d) 72°

99. Out of 532 savings accounts held
in a post office, 218 accounts
have deposits over € 10,000 each.
Further, in 302 accounts, the first
or sole depositors are men, of
which the deposits exceed ¥ 10,000
in 102 accounts. In how many
accounts the first or sole depositors
are women and the deposits are

up to ¥ 10,000 only?
(@) 116
(b) 114
(c) 100

(d) Cannot be determined from the
given data

100. If
x+y+z=0
then x3 + y3 + 23 + 3xyz 1S
equal to
(@) O
(b) 6xyz
(c)] 12xyz
(d) xyz

o




CDS 1 2015 maths question paper:

SSBcrackExams.com
96. I q 3 b & 9 A, G 991 H HUI: 98, T Maled ® A, B, C, D 3R E ui9 &d
AT J1E9, IO [TeT 3T gcdsh H1ey gl S T FA 100000 Hal # € e A
g, d F=fefaa @l 8 9 -1 & %l 36000, &1 B &l 24000, 3 C I
adl 27 5 ' 18000, @ D F 7000 3R I uq T

oo E &l f4dl| g9@ A 7 E & fau a-a
)« = fuff@ g

(@) 15°

o G % o
(b) G 3N H* &9 A GHFR 7189 8 =5 . (b) 54
W ® (g 60

(@) A3 HF = G U 714y 2

() AN GH T HIUHS Aeg 2 (d) 72°
(d) 39h H | FIs TG 99, Teh TIHW H T T 532 &9d @IdT oHgr3i]
| 0 Y218 a@Rt § 9% # & 10,000 @
L NI AHieres ST foRe T 31 o fam R T
SO 302 @IS H YU AT THHATA SHTRAl
B 9 3, o9H @ 102 @@t $t oS
. ulEl 10,000 ¥ e g1 fham
97. W YATH® W& a, b, ¢ H UM R ¢ e &

qieq 3 8 3 3 a9 u-TeHs gEunadl

a1 AT TRMET sad € 10,000 & 87
d, e, f & UK I 4 B GH=F ?

{a, b, ¢, d, e, [} 4 FH-8-FF dF (a) 116
iy g@n 2| F=fafaa srafieett § @ b 114
HH-d1 Tk FEHE T S gEmet F
aTR e M % faww o gatan e (¢) 100
<t 27 (d) feu mu == g fuife 78 R =
Tehdl
(a) M >2J3
100. 3fe Xx+y+z=0 g, dl
(b) M >3.5 x3 +y3 + 23 + 3xyz ToraSF TUeR 27
(@) O
(c/] M2=23-5
(b) 6 xyz
@ ME R dw-dw B dw froa () 12xyz
Al TFd T § . (d) xyz
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